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Unit: Expressions ]

Homework 6 l ‘ Date Pd
4! .

Name

WRIitING exPReCCiONS

Spin each spinner. Then, create an algebraic-and verbal expression using fhose ferms. ‘

ALIeBRAIC

exPReSSioN veRBAL exPReSSioN

NuliBeR | oPeRAtioN | VARiABLe




Name

~ ey

= Uit 25 Homework Standard 6.7(D) R,__.._,j

i 1 Shawna collected cans for 3 consecutive Use the model to answer questions 3~% ‘
days. She collected 22 cans on Friday, s :

28 cans on Saturday, and 16 cans on Sunday. 18 e

Using the associative property of addition,

write two equivalent expressions that could

be used to find the total number of cans S cm

Shawna collected in 3 days.

3 Using the commutative property of
- multiplication, write two equivalent
expressions that could be used to find the
area of the figure above.

! 2 For each set of equivalent expressions, state
- the specific property that justifies each

equivalence. 4
a. 4x -8 =4(x - 2) 4 Using the commutative property of additior.
write two equivalent expressions that could
be used to find the perimeter of the figure
b 1+7=7 Aboves

_ 5 Using the distributive property, write two
- + = !
d. 304 +w) = 3w + 4) equivalent expressions that could be used %=
find the perimeter of the figure above.

6 Apply the identity property of multiplication

to the following problem to find common
g (%) (%) = (??) (1—12) _ Senc')'minators. Then find the sum of the two
ractions. ;

—

h. 17 +(-17) =0

= WN

[ Connections | — ‘ > <
Create a set of cards to use as a game to help learn the operation properties. Using index cards, write

- one property on each card. On a separate card, write the definition of the property and an example. Play
Memory, Go Fish, or another card game with a friend or family member to help you learn the properties.
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Eﬁmiﬁ‘ﬁ 24 Guided Practice Standards 6.7(8) = Supporting; 6.7(C) = Supporiix

i Mrs. Jacobson asks each group of students to 4 Meghan tries to convince her classmate Fionz
write an expression equivalent to the model that 2x + 3 = 10 represents an expression.
below, . Fiona disagrees and thinks that it represents

an equation. Who is correct? '

X 1 X 1 X 1
| ,l | : | ® - Meghan is correct because _expressions
| X | | X ] contain variables.
‘ [ x 10 C x> 10 x4l & Fiona ] ol T
- iona is correct because equations always
1 5, | I - | : contain an equal sign.
The table shows the groups’ expressions. ® Both girls are correct because expressions
and equations are the same thing.
Group | - Expression-
- @ Neither girl is correct.
1 T 3(4x) + 3(3) )

4x(3 + 3+ 3
( ) 5 Kareem and Natalie each created an

2
3 3(4x + 3) - expression using the models shown below.
4 dx +3+4x + 3 +4x+ 3

“Kareem's Expression Natalie's Express
Which group wrote an incorrect expression? @
/ ® Group 1 © Group 3

: @&
Group 2 ® Group 4 & @@@ A

Which of the following is true for 2g + 67

N

What would Natalie need to add to her mogsi

L. Representative of an eq.uation for it to be equivalent to Kareem’s model?

- II. Multiple possible values for g - ® @
III. Representative of an expression
IV. Only one possible value forg @ @
® Ionly ® 1II and III only

® 1III and IV only @ I, II, and III only © @ @ @
® (D) (D (D

Which of the following does NOT represent &
equation?

3 Nia plans to give one necklace and one
sparkle pen to each girl who attends her
birthday party. Necklaces cost $4 each and 6
sparkle pens cost $2 each. She uses the
expression 4g + 2g to calculate the cost, in .
dollars, of the gifts for the girls attending the ® Twice a number is siX.
party. Which of the following is equivalent to
Nia’'s expression?

® 6(g+g9) © 6g2 2
6g " @ 8g

x+6=10

©)
® 6 years older than Mike
@

-9 +2 = -7
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rs<ards 6.7(8) ~ Supporting, 6.7(C) — Supporting

which of the following is NOT true about
squations? :

4@ Must include an equal sign
& A phrase that contains a single term
2 Show two equivalent expressions

3 May contain numbers and variables

which of the following could NOT be used to
~ represent an expression equivalent to the
model shown below?

NONNO
0O 00O OO
QO

DO OV
© © OF

®' 3(-4) + 3(2)
® -12+6

® =43+ 2)
®)

3(=23

Which of the following represents an
expression?
. I. Four years less than Tiffany’s age
II. The sum of a number and six
III. Tim saves $30 more than Jeremy
IV. The difference of seven and three

® 1II only
I and II only
© III only

- ® 1I,1I,and IV only

—=oringminds.com
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Uit 24 Independent Practice

4 Look at the model below.

R x|
R > ]
AR 1

Which of the following statements of equality
are true?

® 3x+2)=3x+5

©@ 3x+ 26 =2(3+ 2x)
® 3(2+x)=6+ 3x

@ 6(2 +2x) =12+ 2x

5 Which of the following best represents an
expression?
® -2x + 20 © -3y =27

® 13+ 12=25 ® == 30

ull~

6 Kelvin modeled an expression using the
Algebra Tiles™ shown.

IIIIIIII
(=] = = =] = 1 =] =]

Which of the following could NOT be the
expression Kelvin modele_d?

® 2@4x + 4)
© 6+4x+2x+2+X+X
® 4(2x) + 4(2)

@ 3x+2+3x+2+3x+4

183




Unit: Expressions
Review

Name

Date Pd

eXPReSSioNS uNit Study Quide

Solve each of the problems below. These represent the types of questions on your test. Be
sure to ask questions if you need more help with a fopic.

i CAN 9eNeRAte ecuivALeNt exPReSSioNS uSING wHolLe NulBeR exPoNeNtS.

6.7A

1. Write each expression is expanded form.

a. 18!

b. @3

c. 67

. 78

2. Write each expression in standard form.

d. 8-8-8-8

. 3-8:3-3

i CAN JeNeRAte equivALeNt eXPReCSioNS USING oRdeR of oPeRATHONS.

6.7A

VonoRY

4.
(18-6)+4 -4
7

=

(122 = 20) — 18

5.
152 - (3-5) + 7

6. Which operation is performed in the
second step of the problem below?

7-6-(18+ 32

7. Which operation is performed in the second
step of the problem below?

7i—1q
8




i CAN 9eNeRAte ecuivALeNt eXPReSSioNS USING PRiMe £ACIORIZAON. 6.7A
8. What is the prime 4. What is the prime 10. What is the prime
factorization of 1527 factorization of 1967 factorization of 727
Expanded: Expanded: Expanded:

Exponent: Exponent: Exponent:

i CAN 9eNeRAte ecuivALeNt exPReCCioNS USING PRoPeRtieS of oPeRAONS. 6.1d

11. On a quiz show, the contestant who gets the answer correct in the shortest amount of time
wins. The host asks for the solution to 49+83+51. Contestant number one quickly found the
sum of 49 and 51to be 100, then added 83 to get 183. Which property did the contestant use?

12. Jamie was really struggling fo multiply two digit numbers together. Mrs. Brack helped her
with the problem 13¢(20¢5) by multiplying 20 by 5 and then by 13, which is 1300. What property

| uéfxa(’ag

did Mrs. Brack use?

13. Complefe the table below.

PRoPeRY

PRoBLeM

uSe tHe PRoPeRty

Commutative Property of
Addition

7.5 +s

Additive Identity Property

k+0

Multiplicative Identity
Property

Commutatfive Property of
Multiplication

Zero Product Property

Additive Inverse Property

d+b=0

Multiplicative Inverse
Property

ESNes)
@)
Il

S
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i CAN JeNeRAte equivALeNt exPReSSIioNS USING PRoPeRtieS of oPeRAHONS. 6.4 |
14. 15. 16.
8(4x + 9) 3(5x + 2) 2(8x + 10)
7. 18. 19.
15 - (x - 9) 16-11-8 (17 + 8)+ 11
i CAN diS$iN9uiSH BeiweeN exPReSSIiOoNS ANd ecUAHONS. 6.18

20. Write an equation or an expression to represent the verbal description below.

b. eig

d. six times a number less nine

ht times the quotient of 6 and 3

c. the difference between a number and 12

d. five times a number is 30

21,

Label each of the following as either an expression or an equation.

a. 18-35

b. the sum of a number and twelve is ten

d. one

c. two is one-half of a number

-forth of eight minus a number

22. Four students write algebraic expressions and equations on their whiteboard. Which of the

students wrote expressions?

Student |

StudeNt 2 Student 2 Student 4
2 2 2

z =2 _ 8 - %
ZX16 =3 2 =X
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i CAN WRite exPReSSioNS.

23. The product of a number and eighteen

24. The price decreased by nine dollars

25. Twelve dollars times the number of hours

26. The sum of ¢ squared and fourteen

27. Two times a number decreased by eleven

28. Five fimes a number divided by four

i CAN deteRMiNe if exPReSSIONS ARe ecuivALeNt.

6.7C

[VeRBAL deSCRiPtoON]

[VARiABLeS]

[PiCtuRe]

L

_ [eXPReSSION] %
[veRBAL deSCRiP+ioN] - [ModeL]
I I
[eXPReSSION]
i've got it Hel P!

What concepts can [ ace on the test?

What concepts do I need to study?




